SD-DTDSt v K
SD-DTDS set

0412-114

SD-DTDSt v K
SD-DTDS set

0412-168

2532-008

2534-007

BIFE A
Sold separetely

0412-170

2521-053

0412-171

0412-114

BIFE b
Sold separetely

2500-048

T
Sold separetely

~._0412-115
T b
Sold separetely

*The prices in parentheses are the prices excluding consumption tax.

2534-007
T HITE
Jonn Sold separetely
Sold separetely
0412-168
‘77777 - 2s012 77777
‘ ! 0412-170 I T N
| \ 0412-171 |
‘ ‘ a4 ! 2500-048
| ! 1 2521-053
2 | | Al
l 2505-006 _+ 62 ‘ Sold separetely
! 2521053 /i \ ‘ 0412-115
| | i | I
i L ! ‘ Sold separetely
i 2532-008 B
*The prices in parentheses are the prices excluding consumption tax.
. i AT
2 — FNo. fih % A (Mﬁiﬁth’fg% i *
Code No. Name Q'ty Price (Yen) Remarks
SD ¢104 — + & BB il 2,100
0412-114 SD ¢ 10Drive auto-rotation 1 (2,000)
0412115 | SDF—Far—2+tv +  [1xk 840 M3X12TS, A5V FWH (7% T ABrg Bll5E)
SD auto-rotation case Iset (800) M3XI2TS, Bushings and washers attached (one way bearings sold separately)
SDDTDSt v b 154 10,290
0412-168 | Sp DTDS set lset | (9,800)
SDA A ¥ F 87T (DTDS) 3,675
0412169 | 51y hain gear 87T (DTDS ) 1 (3.500)
0412-170 SDt 41~ ¥V 79T (DTDS) 1 3,150
SD second gear 79T (DTDS) (3,000)
0412-171 SDt v F¥EY N7 1 3,465 EZ e
SD second gear housing (3,300) Screws attached
Brg. ¢12 X 16L 7 > 7 A 1,575
2500-048 | g2 5 12X 16L one way ! (1,500)
M3+~ Ao+ b 210
2505-006 | 3 nylon nut 10 (200)
717 —3X5X4.1 315
2521033 | Collar 3X 5 X 4.1 2 (300)
Fyy T A7) 2—M3X25 420
2532-008 Cap screw M3 X 25 10 (400)
¥ AZ) 2—M3X1271 105
2534007 | Tynping serew M3 X 12 black | 10 (100)
MeAM2.6 X 6 210
2538012 Countersunk screw M2.6 X 6 10 (200)
BT TSRO 71— HIROBO LIMMTED
tDI—I—\_ *;RKE*I 3-3-1 SAKURAGAOKA, FUCHU-SHI,
LBRRAHRmEHES-3-1 T726-0006 HIROSHIMA-PREF,JAPAN T726-0006
TEL:(0847)40-0088(ft) FAX:47-6108  TEL:81-847-40-0088 FAX:81:847-47-6108
http://model.hirobo.co.jp/ http:/model.hirobo.co.jp/english/
HIROBO <—i% TEL:(0847)45-2834 Order Number TEL:81-847-45-2834

. i AT
2 — FNo. fin % A (%M)iﬁth’fgé fii #
Code No. Name Q'ty Price (Yen) Remarks
SD ¢107 — k 1 ERE]ih 2,100
0412-114 SD ¢ 10Drive auto-rotation 1 (2,000)
0d12-115 | SDF—hEr—2+tv b 1R 840 M3X12TS, A5V FWHF (7% A Brg. jl5c)
SD auto-rotation case Iset (800) M3XI12TS, Bushings and washers attached (one way bearings sold separately)
SDDTDSt v b 154 10,290
0412-168 | Sp DTDS set lset | (9,800)
SDX A ¥ FY87T (DTDS) 3,675
0412169 | 51y hain gear 87T (DTDS ) ! (3.500)
0412-170 SDt 71 >~ ¥V 79T (DTDS) 1 3,150
SD second gear 79T (DTDS) (3,000)
0412-171 SDt s ¥ ¥V NG T 1 3,465 ESVZiS
SD second gear housing (3,300) Screws attached
Brg. ¢12 X 16L 7 >~ 7 A 1,575
2500-048 | g2 5 12X 16L one way ! (1,500)
M3+~ o>+ b 210
2505-006 | 3 nylon nut 10 (200)
717 —3X5X4.1 315
2521033 | Collar 3X 5 X 4.1 2 (300)
Fyy T A7) 2—M3X25 420
2532-008 Cap screw M3 X 25 10 (400)
Fy¥ LT AZ) 2—M3X1271 105
2534-007 | Typping screw M3 X 12 black | 10 (100)
Me AM2.6 X 6 210
2538012 Countersunk screw M2.6 X 6 10 (200)
BT THREILOoT 7 — HIROBO LIMTED
‘:Dm_*}kﬂﬁ*I 3-3-1 SAKURAGAOKA, FUCHU-SHI,
LBRMAHRmEHES-3-1 T726-0006 HIROSHIMA-PREF,JAPAN T726-0006
‘ TEL:(0847)40-0088(ft) FAX:47-6108  TEL:81-847-40-0088 FAX:81-847-47-6108
http://model.hirobo.co.jp/ http:/model.hirobo.co.jp/english/
HIROBO (—i% TEL:(0847)45-2834 Order Number TEL:81-847-45-2834




